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« «̇«««
 41 

ß
Í
======================& w w «̇««« «̇««« «̇««« «̇««« w w w «̇««« «̇«««

======================? ẇ««
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«« «̇«««
 45 

ß
Í
======================& «̇««« _̇«««« . _̂«««« _̂«««« «̂««« «̇«««

»̇»»» . »»»» »»»»œ œ »̇»»» «̇««« . «̂«««
£ «̇««« »̇»»» _̇«««« _̂«««« _̂««««_̂«««« _̂«««« »̇»»» . #«̂««

« #W
======================?
* Dotted half note A + 2 eighth notes G and F (sharp) according to Haberl; I do not agree with the sharps in 

both Haberl and Bergquist; in measure 44 Haberl: half note, dotted half note, quarter note and half note, 

resulting in a rather confused text placement; in measure 50 Haberl reads GG in stead of BB. 

 

«̇«««Ó »̇»»»
«̇««« œ»»»»
w œ»»»» œ»»»» œ»»»»
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